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Candidates are required to give their answers in

their own words as far as practicable.

1.  Answer any five questions of the following:
1x5=5

@-F oo am Teq nie ¢

a) Convert the following figurative statement
into a simple statement as possible:

S S gp\

Efiiie wemie A w=we A Feie
FT—

Life is but a dream.
G0 2 (@ (O |

b)  What is the smallest unit of a meaning?

O SdF Frow G0 2

[Turn over]

d)

40(A)NS

In what sense is the verb 'to know' used in

the following sentence?

e abre am’ § o I7me 2@R?
Do you know the meaning of that word?
ofi & @ *it3 =i w2

Which of the following words is either

precise or vague?
A *ale (@G 8 A SR o @14—
Five, Slow

A5, A

Which of the following propositions is 'truths

of reason' and which is 'matters of facts'?

lerie el ey @D e Top” «g
@G - 3Ty ?

1)  All crows are black.
AT BIE L BIC

11)  Smell cannot be tasted.
NHT FM (ST I A1

Are geometrical propositions analytic or

synthetic?

TrifNfes wasle [Rees T wese

[2]



g)

h)

Do you consider the following statements to

be occurrent or dispositional or both?

A3 eme ML (@FvCe IHI S &S]
w2l Ty (GRS SR ?

1) I feel drowsy.
9y ol (@Y |

i1) Diamond is a precious thing.
B0 GG T T |

"Universal are nothing but names"— who is

the exponent of this theory?

S e A el g2 91— @3 TeAimR
4G (F?

Answer any ten questions of the following:

2x10=20

@-F o arF Ted wie ¢

a)

40(A)/NS

Which of the following propositions would
you consider to be laws of nature and why?
(any two): 1%x2=2

fasfefae apaefan s @mef adgfos
e @ (@2 (@ @I 7o) ¢

i)  All crows in the United States are black.

FSANEZA A B FICT |
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b)

d)

40(A)/NS

11)  Iron rusts when exposed to oxygen.
eI A @R A7« |

i)  All metals are good thermal conductors.

R 92 O OI-FRAET |
iv)  All oceans contain water.
A A et Bl |
What 1is fact?
RO FIE e 2

In which of the following examples state
whether the necessary condition is causal or

logical?

fafeiiie Suiesdeflr @HGee ST @$h
Tlelere q1 (@ifes ol Hom 591

1)  Having three angles is a necessary

condition of being a triangle.
foafs (el APt @ Tqgres SRR =16 |

11) Presence of heat is the necessary

condition of flame.
SR Toifefe eegettTa eRfs *$ |

Give an example of each of apriori and

aposteriori proposition.

G35 o @R 9T AT 6 TriRe
e |
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g)

40(A)/NS

State whether the two following sentences

are meaningful or meaningless:
e G S |t @R o (e ¢
1)  The number five is green.
Ao A e |
ii) He did not draw a circular square.
@1 O30l JEIFE oM i |
Are the following statements varifiable now?

e ove ayele oI & aq sy e

i) There will be severe economic

depression in India in the coming year.

N 2 SO WiEe Lo ST (7l
Mcq |

i1)  Julius Caesar was assassinated in the
Roman Senate in 44 B.C.

gferas Aew 88 Ao it @A B
4ol ARG |

Distinguish between Stipulative and Reportive

definition.

2SS ATl R eferavs AL ANy ol
4|
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h)

i)

40(A)/NS

Give two definitions of 'Analytic' proposition

after Hospers.
AT STl e 60 716 TkeRl Srard 4|

How will a phenomenalist translate the

following sentence?

GG SFePRM Feld e IMhrs Sam
FAE ?

The table exists in the next room.
(55351 5 AT 90T Iz |

Which of the following propositions can be

known in the strong sense?

fmferiie @iq ARmelis e s aml TR e

1) I feel an acute pain in the stomach.
il (o5 OIF TFel SIged Az |

i1)  There will be no flood this year.
4% T2 I RS

1i1) The Principal is now in his office.
S G Sl SR S0 |

1v) Some day or other I will die.

@ G Sif Tl 91



k)

D

Are the things which are meaningful but not
words?

@ g =z & A odsy [5g = e

What are the conditions for having

Propositional Knowledge?

s TwieTa oef fF 5o

3. Answer any five questions: 6x5=30

- oo amg Teq ne ¢

a)

b)

d)

40(A)/NS

Explain with examples three sources of
vagueness.

“[Cws SRl e fonfb el TrizseTe il
Rl

How does a scientific explanation differ from
a purposive explanation?

@S Il W AN G e AR
I 2N ool 51 |

Explain the confirmability criterion of
meaning.

ERE RO ER B TS SN IS

What is the difference between strong and

weak idealism? Which of them is the view of
Barkeley?

T € e SRR A1y [F e @2 wioa weg
I AT TeAm 2
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g)

h)

Answer any three questions:

What is concept? How does it differ from

image?
oory 2 afewmee e ao@e “idy @

"All red things are coloured"— Is it a synthetic
apriori proposition? Give Hosper's argument
for and against the view.

RS S AR, A — @2 AF0 [ AT

sRSeOE 2 @2 e oftF ¢ [oATE o @
Ffeafl e eI SEba |

Distinguish between Naive-Realism and

Representative Realism.

el IEAM G2 afemall IAmA oAy [Hmote
|

State briefly in what respects Aristotle's view
of Universal differs from that of Plato.

Gifs A=AE SIRPOLER N0ed 0 (AT 0ol
(IR (IR CF0q 2112 SI0R, ©f ALCHCA Trare |

15x3=45

@-F To=lt areia Teg wie ¢

a)

40(A)/NS

1)  Explain and examine the verifiability

theory of meaning.

piRcierel oeib Wi ¢ [JoE 41
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b)

d)

40(A)/NS

i1) What is the characteristics of the

statement?

I shall survive my bodily death.
10+5=15

SN I 27 SIS (& AFT— a2 AT
[SITEIIE

What do you mean by Determinism? Is it
identical with Fatalism? Discuss whether

Determinism compatible with freedom.

[BRERRIASCIACAE NI FRUER SGIPR A L (CE
et St 2 fgeam idTo 1t iferlel el
©f S 39 |

Is causal principle apriori or aposteriori?

Discuss after Hospers.

TRTe qife mechim al Ao s
SRR O AT |

Mental states are identical with certain
physical states of brain — critically explain
the theory expressed in the above statement

regarding relation between mind and body.

‘Tt sEefE Simor SR [Rew [Rew
SRER AKX St — (2 8 V=F 79F <@ @
Tt T Ay e 2@ ©f ARG SiETsl
4|
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What is Representative Realism? Make an
assessment of Barkeley's criticism of this

view.

Afozmol @AM FIE A 2 AP @B ToAWE @
ST TR ST e 4 |

What is the meaning of 'law of nature'?
Explain in the connection the distinction
between descriptive and prescriptive laws.

Why are prescriptive laws not propositions?

‘Arphoss o’ 2l 1 62 @2 @pfest TefaieTs
8 T@PbF WA Wy ALF Wi 9
IR (WS A6 T (T 2



